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Max. Z = 1000 x; + 800 x,
Subject to:
8 X1 + 6 X, <2400
4 X, +9X%,<1800
2Xy <500
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8 X1 + 6 X, = 2400 (x;=0, x, =400) (x4=300, x,=0)

4 x4 +9 %, =1800 (x;=0, x,=200) (x4=450, x,=0)

2 X, =500 (x; =250)
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a(0.0)=> Z, = 1000 X 0+ 800 X 0 = 0 :a akeidl s
b(250.0)= Z, = 1000 X 250 + 800 X 0 = 250000 :b akali 1 0
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{8){1 +6x, = 2400.....(1)
2%; = 500 ..o cee.. (2)
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8 X 250 + 6%, = 2400 = x, = 200/3 & (1) @bl 3z smll,
c(250.200/3)= Z, = 1000 x 250 + 800 x 200/3 = 410000/3

tally JoV1 sl e cuablael) il dsles ale 2 2585 d dladd) U1 5laY od daid) e -5
{8){1 +6x, = 2400.....(1)
4%, + 9%, = 1800 .....(2)

g (2) Dslall wo Lgmny = 2 e (1) Wslell ey
600
6x; = 600 = x, = —— =100

4 (1) dsladl 3 2 4l

2400 - 100 x 6
Xl == 8 - 225

d(225.100)= Z,; = 1000 x 225 + 800 x 100 = 305000

e(0.200)= Z, = 1000 x 0 + 800 x 200 = 160000 :e aill we —o
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Min. Z =40 X1 + 35 X»
S.T.

2 Xy +3 X%, >600
X1+ 2 X, <600

6 X1 + 3 X,>900
0.6 X1 +0.25 X, > 60

X1, X2 =0
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2 X1 + 3%, =600 (x;=0, x,=200) (x,=300, x,=0)
X1 + 2 X, = 600 (x;=0, X, =300) (x,=600, x,=0)
6 X1 +3 X, =900 (x;=0, X, =300) (X,=150, x,=0)
0.6 x; +0.25x,=60 (X1=0, X, =240) (x,=100, x, =0)
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a(300.0)= Z, = 40 x 300 + 35 x 0 = 12000 2 abid) we |
b(600.0)= Z, = 40 X 600 + 35 X 0 = 24000 b abad e o
C (0.300)= Z, = 40 x 0 + 35 x 300 = 10500 ¢ ikl e —¢
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6x, + 3%, = 900 .....(3) e
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300
4% = 300 =x =~ =75

1 (1) dsladl 3 2 4l

600 —2 X 75
X2= 3

d (75.150)= Z; = 40 X 75 + 35 X 150 = 8250

s 0 e ) ead w1 R 06 (Miny s Cad @b ol el 4 — 4
d (75.150)

= 150
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